
In this project, I am studying whether the median income of cities in Cuyahoga County 

effects the graduation rate. I believe that these two things are related because sometimes families with more money are able to providing their children with things outside the necessities such as tutors, extra books, and outside help for problem subjects.  Also, I think that students that go home to a house with a comfortable situation of money may create better environment because they might not have to worry about money.  I found my information by going through the Algebra II website and observing last year’s data.  I chose cities in Cuyahoga County that are very diverse with a wide array of median incomes to make the compiled data more accurate. 

The linear regression equation of this graph is (y=0.0012x+40.748).  The slope of this line is 0.0012, which shows a steady and gradual positive increase that shows that the greater the income the higher the graduation rate.  The slope represents the percentage of the graduation rate over the median income in dollars (
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).  The Y-intercept of the graph is a 40.74% graduation rate, which doesn’t really make sense because Cleveland’s graduation rate with a median income of $21,015 has a much lower graduation rate by 7.048%.  The Y-intercept shows that a county with the median income of zero dollars, which not only doesn’t fit the data, but is also not possible. 

The correlation coefficient tells how well a regression line fits the data.  The closer to one this number is, the closer it is to fitting perfectly onto a line.  When the correlation coefficient is zero, it means that the data points have absolutely nothing to do with on another.  On the linear graph, the correlation coefficient is 0.32, which means it doesn’t fit very well.  But on the logarithmic graph, the correlation coefficient is 0.56, which is a much closer fit.

The regression equation tells how well a regression line fits the data.  The closer to one this number is, the closer it is to fitting perfectly onto a line.  When the correlation coefficient is 1, it means that the points on the graph are exactly on the line and it is zero, it means that the data points have nothing to do with each other.  On the graph, the correlation coefficient is 0. 0.5612, which means that it isn’t a very good fit, but isn’t a bad fit either.  

For the domain of this graph any positive real numbers would technically fit the graph, but logically cities do not have median incomes that are VERY small numbers such as 10, 100, or 5.  It depends on the locations and economic situations of the cities but usually numbers from 10,000 to 70,000 are usual.  I do not think that it is not possible for a city to have a median income of 0 or 1, but one could argue that in some places of the world without any available jobs, this could be possible.  

One point on the graph that stood out to me was the point for Cleveland City, because it was so far away from the regression line. Cleveland City’s median income was $21,015 and had a gradation rate of only 33.7% of its students.  I thought that this point would be near East Cleveland City that has a median income of $19,141, which is only about a $2,000 difference.  I also thought that Cleveland City would have a much higher graduation rate because of higher median income, but it has a 30.7% difference!  Another point on the graph was that of Orange.  Because it has a much higher median income than the other cities, I thought it would have the highest graduation rate, but four other cities have a higher graduation rate: Solon, Shaker Heights, Beachwood, and Bay Village.  Solon even has a $16,002 difference in income and has a better graduation rate!
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